2013-09-26-C02 ,><~ b

Thursday, September 26, 2013
10:221AM =

Ex  Teot J K

X Y- 2= (x5 —80.(0
5S¢ b -l =I5, 4
72 -g.6 -0.6
<3 2.4 0.2

2 ||, ©.77

00 4. [.3

EX - @mﬂ(@('{\/ rv;};rﬂwﬂv»&d_ (%})\\r\'é@@ e
Cofee %&W}p

é—\]\M ——
S = (213%)

¢ 71 73

73

|76

o

.67 | count | 24 —

.74 | Imean | 71.21. 'X :7 ) N ZJ
70 [ sample variance | 8.87'

|69 | sample standard deviation | 2.98 S -~ Z_ Q ?
\Te emp-Tolerance. xis>

72

‘71 | Pasted from <file:///C:\DOCUME~1\parlar\LOCALS~1 CoffeeTe
I !
[75

[72

(67

74

v72

.68

70

‘77

‘68

72

69

75

68
73

LOCALS~1\Temp\CoffeeTemp-Tolerance. xis>
é—7 —

483713 ‘ L17///4///1\/// ///,j ‘
%S % NS
(7.7 [ 219

Q600-C02 Page 1


file:///C:/DOCUME~1/parlar/LOCALS~1/Temp/CoffeeTemp-Tolerance.xls
file:///C:/DOCUME~1/parlar/LOCALS~1/Temp/CoffeeTemp-Tolerance.xls

i v _S__:),L

677 77

L 2 2 2 L2 "3'

o
X5 X R+3S
6T Y 71 7L C

d) [Mor meayure o) Vo n e o

SCNA

Ex. GmA]

http://profs.degroote. mcmaster.ca/ads/parlar/courses/q600/ChapterComments/documents/GMAT-
Percentiles.pdf

The pth percentile of a group of n measurementsis avalue such that (approximately) p% of
measurements fall at or below the value and (approximately) (100-p)% fall at or above the value.
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An easy method for locating the position of the pth percentile of n measurements: 1 — F
—

* First, orderall measurements and calculate i =(p/100) *n.
Ifiis an integer, thenthe position is the average of measurementsin positionsiand i+1. { O O

Ifiis notan integer, then the positionisthe nextintegergreaterthani.
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